AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B4XR-A/X “W” witH or wiTHOUT PULLEY
CAT ASD5

9222 9065 6104 F777 F739 HO45 Fg49 6184 Fas7

1/
} Ir—T-—i-T—i{ __1:f22 6031

HO42

F856

N N H049
HO43

F860

6052 5455 F138 F165 6326 6173

fud
H 7.
F850 /
/
F476
n 6238
HO048 o
o
HO47
| F164 _
9533 by y ‘ | H
s | ]
Fras I N | 2
6339 8436  H157 F154 ‘.:..r:»:::m
‘ Part i Retall ‘ Part i Retall
Number  Qty Description price Number  Qty Description price
5455 1 Greaser G 1/8” $7 F165 1 SnapRing| 72 $7
6031 1 Flex. Gasket G 1089 $13 F476 1 Nut M12x1.75 $14
6052 1 OR 133 (24.99x3.53) $13 F739 1 Steel Nut M6x1 $7
6104 1 Check Valve G 1085 $95 F777 2 Washer D.130x3 AlSI $47
6173 1 Washer 10x30x6 $7 F850 1 Key B 6x6x15 AISI 316 $7
6184 1 Flex. Washer 41x50x2 $7 F856 1 OR 4875 (221.84x3.53) $18
6238 1 Screw T.E. M10x20 SX $7 F857 4 Screw M12x55 AISI 316 $17
6326 1 Key B 6x6x25 $6 F860 1 Support $1,212
6339 1 Mech. Seal 25-47-14 $43 HO042 1 Pump Casing AISI 316 $11,524
8436 1 Counterface 26-57-7 $127 HO043 1 Valve Body AISI 316 $2,660
9065 1 Counterweight $47 HO045 1 Flange AISI 316 $1,418
9222 1 Stainless Steel Screw M6x20 $1 HO47 1 Stainless Steel Impeller $2,483
9533 7 Screw OEB M10x30 $10 HO048 1 Washer D.12 5x36x3 $12
F135 1 Conical Tap ¥4" Gas $22 HO049 1 Stainless Steel Disc $196
F138 1 Stainless Steel Shaft $628 HO97 1 Tap AISI 316 1¥%'G $176
F154 1 Bearing 6305-2RS $80 H157 8 Stainless Steel Screw M10x35 $10
F164 1 Bearing 6306-2RS $120

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

Al prices include GST GMP/JUN 10/1



